
https://www.leads4pass.com/ns0-515.html
2024 Latest leads4pass NS0-515 PDF and VCE dumps Download

 

 

 

NS0-515Q&As

NetApp Certified Implementation Engineer - SAN, E-Series

Pass NetApp NS0-515 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/ns0-515.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by NetApp
Official Exam Center

 

 

NS0-515 VCE Dumps | NS0-515 Practice Test | NS0-515 Braindumps                                1 / 6

https://www.leads4pass.com/ns0-515.html
https://www.leads4pass.com/ns0-515.html
https://www.leads4pass.com/ns0-515.html


https://www.leads4pass.com/ns0-515.html
2024 Latest leads4pass NS0-515 PDF and VCE dumps Download

QUESTION 1

You want to find detailed information about the devices that are connected to the Brocade switch. In this scenario, which
command would accomplish this goal? 

A. portloginshow  

B. zoneshow 

C. nsshow 

D. switchshow 

Correct Answer: A 

Reference: https://jp.fujitsu.com/platform/server/primergy/products/note/other/FOS_CmdRef_v720.pdf 

(849) 

 

QUESTION 2

A company implemented Automatic Load Balancing (ALB). When the controller workloads are monitored, it becomes
obvious that there is an imbalance and that ALB is not working correctly. 

In this scenario, what are two causes of the problem? (Choose two.) 

A. The company implemented a load balancing min-min algorithm that does not support ALB 

B. The company implemented an adaptive load balancing agent that does not support ALB 

C. The company implemented a host multipath driver that does not support ALB 

D. The company implemented a host type that does not support ALB 

Correct Answer: CD 

Reference: https://mysupport.netapp.com/NOW/public/eseries/sam/index.html#page/GUID-8538272AB802-49D9-9EA2-
96C82DAD26A2/GUID-90A829B6-ACEE-41C6-8595-91C7D90554EB.html 

 

QUESTION 3

Click the Exhibit button. 
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A customer has a raised floor with a weight limit of 700 lb. per floor tile. The customer\\'s data cabinet weights 90 lb. and
covers a single floor tile. 

Referring to the exhibit, what is the maximum number of E2824 shelves possible to be installed? 

A. 22 

B. 10 

C. 6 

D. 14 

Correct Answer: A 

 

QUESTION 4
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Click the Exhibit button. 

You ordered a NetApp E2812 Duplex 16GB 10 GbE Base-T system. Referring to the exhibit, what is the maximum
number of 10GbE Base-T ports available to be used? 

A. 8 

B. 4 

C. 6 

D. 12 

Correct Answer: B 

 

QUESTION 5

Which file contains the configuration for a multipath driver for FC on Linux systems? 

A. /etc/kernel/mp.conf 

B. /opt/multipath/multipath.cnf 

C. /etc/multipath.conf 

D. /etc/dm-multipath.conf 

Correct Answer: C 

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMP12404601 

 

QUESTION 6

An orphaned volume occurs during an asynchronous mirror implementation. You must recover the orphaned volume. 

In this scenario, which statement is correct? 

A. Remove the mirroring relationship on the orphan, then re-create the mirroring relationship 

B. Suspend mirroring operations on the orphan, then resume operations 
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C. Deactivate the mirror consistency group that contains the orphan, then re-enable the group 

D. Perform a role change on the orphan, then re-create the mirroring relationship 

Correct Answer: A 

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMP1394847 

 

QUESTION 7

When a drive fails in a Dynamic Disk Pool (DDP) with no free capacity, what happens to the data? 

A. It is rebuilt using the on-board backup database 

B. It is rebuilt using preservation capacity within the DDP 

C. It is evacuated to the preservation capacity within the DDP 

D. It is evacuated to a hot spare drive that is assigned to the DDP 

Correct Answer: B 

Reference: https://www.netapp.com/us/media/tr-4652.pdf (6) 

 

QUESTION 8

A customer is configuring an EF570 system on an internal network. Due to security concerns, the network does not
have Internet access. The customer wants to regularly send standard support data to NetApp. 

In this scenario, what should the customer do to accomplish this task? 

A. Enable AutoSupport with a set interval and with the store locally option selected, manually move the data to a server
with Internet access, and then send the data to NetApp. 

B. Open a support ticket with NetApp to enable AutoSupport local functionality, manually move the data to a server with
Internet access, and then send the data to NetApp. 

C. Set up a script to initiate Collect Support Data on a set interval, manually move the data to a server with Internet
access, and then send the data to NetApp. 

D. Set up a script to initiate Collect Support Data, remove the extra log files, manually move the data to a server with
Internet access, and then send the data to NetApp. 

Correct Answer: A 

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2502818 

 

QUESTION 9

A junior administrator recently made changes to an E-Series system. As a result of these changes, the management
host lost the ability to manage the E-Series system through in-band management, but the host still has access to the E-
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Series data volumes. 

In this scenario, what caused this issue? 

A. The access volume was un-mapped 

B. The management IPs were changed 

C. The ownership of the management host\\'s volumes changed 

D. Auto Load Balancing was disabled 

Correct Answer: B 

 

QUESTION 10

What are two methods for setting the host protocol configuration on the E2800 controller with a 4-port 16Gbps FC or
10Gbps iSCSI SFP+ host interface card (HIC)? (Choose two.) 

A. Set at the factory, based on the order 

B. Change the QSFP type in the HIC 

C. Change the Feature Pack in the SANtricity System Manager 

D. Set in the Hardware tab using SANtricity System Manager 

Correct Answer: CD 

Reference: https://docs.netapp.com/ess-11/index.jsp?topic=%2Fcom.netapp.doc.e-2800-sysmaint% 2FGUID-
C2A2AAC4-A1B9-468F-8CE8-862D32917840.html 
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